Sr

10

1"

12

13

14

15

Questions

=SSy an

= silae (S ol S S 3 las

= 3> e

Lt w50 (50l 1S lada (S ol ey

ot ol ) s 1S Al 5 s

Rl Ly s

e sl S an gy

o Gfia (S aa g

= deala alie 58 50 5l b a3l Cladas:

o deals i 538 5 ) (S Dl

= OSa oy gl

dL'J\)AS;);\;Lu'acl:

S

= R e o Je (S Gsiasal

U8 S e usd S e ge S

Answers Choice

u_‘nb)g\]
BB
sl
S e

Gedy
S
Cse

Js

S o
S usSE
S S
i

- N

g
il
@Al

RERST
el 5
ol 5 ) 5
2 g8 ) s

)
Sy
S @Al
S de

LS b sy
e S
LS e
LS lea

Sl
[ERt
[EBY
s
Jae
& glsa

):\AA
A

S A s
BB
S ok
Sas g

DO®mP» UO®P DOmF DO®F U0DP UOmP D0W» U0DP DOUR 0UOmp

s
)-ul
gled
o

o

da
s
<L

z

ES

o
2
e

S

Sgle
S

> 00w » DOU> UOWH UOWH

Cus gd

C. Uil
D. sl






